HURAKAN

MACOPYBKA HURAKAN HKN-22SP (c 2020)

/

i

o

. .
b—

MBS

Bil

0




MACOPYBKA HURAKAN HKN-22SP (c 2020)

Mos HanmeHoBaHue getanun Kon
1 Door cover 1
2 Orifice a (@8) 1
3 Cross blade a 1
4 Cage small shaft 1
5 Twisted cage 1
6 Aluminum ring 1
7 Tee 1
8 Aluminum Tee 1
9 Output shaft 1
10 Motor (copper wire) 1
11 Stainless steel bottom plate 1
12 Foot 4
13 Gearbox body 1
14 Gearbox paper pad 1
15 Gear shaft 1
16 No. 1 gear 1
17 Gearbox cover 1
18 Bakelite gear 1
19 M12 round nut 1
20 No. 2 gear 1
21 cabinet 1
22 Aluminum hopper 1
23 M14 hexagon head oil hole bolt 1
24 Meat tray support 1
25 Meat dish 1
26 Aluminum pad 1
27 handle 1
B1 Cross recessed pan head screws 6

B2 Cross recessed pan head screws 1

B3 Retaining ring for hole 1

B4 FB oil seal 1

B5 Bearing 6304-RZ 1

B6 Bearing 6203-RZ 1

B7 O-ring 1

B8 Socket head cap screws 2

B9 Hexagon head bolt 1

B10 Flat Washers 1

B11 Plastic knurled head screws 2

B12 Socket head cap screws 4

B13 Standard spring washer 4

B14 Elastic cylindrical pin-straight groove 2

B15 Bearing 6201-RZ 2

B16 Circlip for shaft 1

B17 Stop washers for round nuts 1

B18 Flat key A8x16 2

B19 Pingjian A5x16 3

B20 Socket head cap screws 8

B21 Standard spring washer 6

B22 M8 sealing washer 2

B23 Hexagon head bolt 4

B24 FB oil seal 1

B25 Circlip for shaft 1

B26 Socket head cap screws 4

B27 Cross recessed pan head screws H type M4X5 4

B28 Signage 1

B29 Universal switch 1

B30 Cable screw connector 1

B31 power cable 1

HURAKAN



